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ACHARYA VIDYA KULA
IT ASSESSMENT — SEPTEMBER 2018

CLASS: VI MAX MARKS: 20
SUBJECT: PHYSICS (SCIENCE PAPER - 1) MAX TIME: 30 MIN
GENERAL INSTRUCTIONS:-

Answers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 5 minutes
This time is to be spent in reading the question paper
The time given at the head of this paper is the time allowed for writing the answers
Write the question numbers clearly, follow the same system of numbering as given in the question paper.
The intended marks for questions or parts of questions are given in brackets [ ]

Question — 1
a) Fill in the blanks and rewrite the statement: [Y2X6=3]
(i) The -—-------—--- of units that bear the name of scientists are written in upper case.
(ii) 1 millimeter is equal to -—----——-- of cm.
(iii) Beam balance is used to measure —-------=---- of a body
(AV) == is the force of gravity acting on the object.
(v) The time of 12:30p.m. in 24 hour-clock is —--==------=
(vi) The normal body temperature of human body ig --=----------- Sc.
b) Write true or false and rewrite false statement correctly: [2X6=3]

(i) Screw Gauge is used to measure the temperature.

(ii) Value of 1em?2 of area is equal to 10000 m2

(iii) The interval between two events is called time

(iv) A clinical thermometer has kink in the capillary tube just above the glass
(v) We estimate the amount of sugar added to tea or coffee

(vi) A correct metre scale should have arrow sign at the centre

c¢) Give reason for the following: [1X4=4]
(1) A clinical thermometer should not be washed with very hot water
(ii) We can not take arm length as the unit of length
(iii) Electronic balances are used by gold smith
(iv) A ball rolling over the floor stops after some distance

Question — 2

a) Write four effects of force. [2]
b) (i) Write any four clocks used in olden days.

(ii) Convert A) 2h30min into seconds B) 18:45h into 12 hour clock 3]
c) Write two characteristics of true balance. [2]
d) Convert 20% into Kelvin scale [1]
¢) The mass of 20 one-rupee coins is 190g. Find the mass of each coin in SI unit. [2]
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